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Questions

Two polygons are similar if:

According to the Pythagoras Theorem (When the hypotenuse is C):

The sum of the angles in a triangles in a triangle is:

A line passing through a circle away fromits centre is called :

Objects having the same size, shape and measurement are:

what is H5N1

Disease which travels itself from place to place is called:

Which of the following is the most common form of colour blindness, usually found in males?

Which disease causes difficulty in breathing ?

When was HIV identified?

Answers Choice

A. All corresponding sides are
proportional

B. All corresponding angles are
equal

. Both Aand B

. None of these

.a-b2=c2

. a2+b2+c2=0
a2+b2=c
a2=b2=c2
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360 degree
180 degree
280 degree
90 degree

Radius
Diameter
Segment
Chord

Similar
Congruent
Symmetrical
Variant

Fungi
Vaccine
Virus
Bacteria

Endemic
. Epidemic
. Infection
. Airborne
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A. Difficulty in distinguishing red from
green

B. Difficulty in distinguishing red from
Blue

C. Difficulty in distinguishing red from
orange

D. Difficulty in distinguishing red from
black

A. Asthma
B. Anemia
C. Astigmatism
D. Autism

A. 1987
B. 1985
C. 1983
D. 1980



